
A csoport Lőrinczi Attila
Dévényi 

Csaba
Varga László B csoport Szűcs László Török Csaba Szente Attila

Lőrinczi Attila 3 / 0 3 / 0 1. Szűcs László 0 / 3 0 / 3 3.

Dévényi 

Csaba
0 / 3 3 / 0 2. Török Csaba 3 / 0 3 / 0 1.

Varga László 0 / 3 0 / 3 3. Szente Attila 3 / 0 0 / 3 2.

C csoport
Herendi 

Miklós

Krizsán 

Tamás
Bartek Bálint

Nagy Péter 

Bálint

Herendi 

Miklós
0 / 3 0 / 3 0 / 3 4.

Krizsán 

Tamás
3 / 0 0 / 3 0 / 3 3.

Bartek Bálint 3 / 0 3 / 0 1 / 3 2.

Nagy Péter 

Bálint
3 / 0 3 / 0 3 / 1 1.

 Lőrinczi Attila Török Csaba
Nagy Péter 

Bálint
 

Szente 

András

Dévényi 

Csaba
Bartek Bálint

Lőrinczi Attila 3 / 0 3 / 1 1.
Szente 

András
2 / 3 0 / 3 6.

Török Csaba 0 / 3 1 / 3 3.
Dévényi 

Csaba
3 / 2 0 / 3 5.

Nagy Péter 

Bálint
1 / 3 3 / 1 2. Bartek Bálint 3 / 0 3 / 0 4.

 Vargó László Szűcs László
Krizsán 

Tamás

Vargó László 0 / 3 3 / 2 8.

Szűcs László 3 / 0 3 / 0 7.

Krizsán 

Tamás
2 / 3 0 / 3 9.

1 - 3 helyért 4 - 6 helyért

7 - 9 helyért

35 +



A csoport Tóth Béla
Károlyi 

Tibor

Gyöngyösi 

Zoltán

Rubányi 

Péter
B csoport

Horváth 

Tibor
Rigó János

Farkas 

Zoltán

Kovács 

Attila

Tóth Béla 3 / 0 3 / 0 3 / 0 1.
Horváth 

Tibor
3 / 0 3 / 0 3 / 0 1.

Károlyi 

Tibor
0 / 3 3 / 2 3 / 1 2. Rigó János 0 / 3 3 / 0 1 / 3 3.

Gyöngyösi 

Zoltán
0 / 3 2 / 3 3 / 0 3.

Farkas 

Zoltán
0 / 3 0 / 3 2 / 3 4.

Rubányi 

Péter
0 / 3 1 / 3 0 / 3 4.

Kovács 

Attila
0 / 3 3 / 1 3 / 2 2.

C csoport
Sulyok 

Tibor

Mocsnik 

Imre

Zentai 

László

Sulyok 

Tibor
3 / 2 0 / 3 2.

Mocsnik 

Imre
2 / 3 0 / 3 3.

Zentai 

László
3 / 0 3 / 0 1.

 Tóth Béla
Horváth 

Tibor

Zentai 

László
 

Károlyi 

Tibor

Kovács 

Attila

Sulyok 

Tibor

Tóth Béla 3 / 0 3 / 1 1.
Károlyi 

Tibor
3 / 0 3 / 0 4.

Horváth 

Tibor
0 / 3 2 / 3 3.

Kovács 

Attila
0 / 3 3 / 0 5.

Zentai 

László
1 / 3 3 / 2 2.

Sulyok 

Tibor
0 / 3 0 / 3 6.

 
Mocsnik 

Imre
Rigó János

Gyöngyösi 

Zoltán

Mocsnik 

Imre
0 / 3 0 / 3 9.

Rigó János 3 / 0 2 / 3 8.

Gyöngyösi 

Zoltán
3 / 0 3 / 2 7.

1 - 3 helyért

7 - 9 helyért

4 - 6 helyért

45 +



Képes Gábor Bajusz Orsi Kovács Tibor Udvardi Leonóra Legeza István

Képes Gábor 3 / 2  3 / 0 0 / 3 3 / 0 2.

Bajusz Orsi 2 / 3 0 / 3 0 / 3 0 / 3 5.

Kovács Tibor 0 / 3 3 / 0 0 / 3 3 / 0 3.

Udvardi Leonóra 3 / 0 3 / 0 3 / 0 3 / 1 1.

Legeza István 0 / 3 0 / 3 0 / 3 1 / 3 4.

55 +


